
cg";'lr 2

1= /fhZj

1=1 cfGtl/s /fhZj

1=1=1 ;DklQ s/ 5,000,000.00

1=1=2 #/axfn s/ 200,000.00

1=1=3 ;jf/L ;fwg s/ 200,000.00

1=1=4 lj!fkg s/ 200,000.00

1=1=5 Joj;fo s/ 500,000.00

1=1=6 dgf]/Ghg s/ 50,000.00

1=1=7 axfn lj^f}/L

1=1=8 d[t hLjhGt'sf] xf*,l;+ª / %fnf

1=1=9 k|fs[lts ;|f]t ;fwg pkof]u s/

1=2=1 #/hUuf /lhi^«]zg z'Ns

1=2=2 ;]jf z'Ns

1=2=2=1 ;jf/L kfls{ª

1=2=2=2 ;/;kmfO{ 100,000.00

1=2=2=3 #/ Ans g+=

1=2=2=4 zf}rfno

1=2=2=5 j:tL ljsf;

1=2=2=6 ;DklQ d"Nof+sg 800,000.00

1=2=2=7 cfo k|dfl)ft 500,000.00

efg" gu/kflnsf, km";|]^f/ tgx"+

cf=j=2074.075 sf] /fhZj tyf cg"bfg k|flKtsf] 

ljj/)f

;+s]t g+= cfDbfgLsf zLif{sx? cf=j=074.75 sf] nIo



1=2=3 ko{^g z'Ns

1=3=1 b:t'/

1=3=1=1 btf{ / gljs/)f 100,000.00

1=3=1=2 #/gSzf kf; 2,000,000.00

1=3=1=3 l;kmfl/; 2,000,000.00

1=3=1=4 gftf k|dfl)Ft 200,000.00

1=4=1 b)* hl/jfgf 100,000.00

1=5=1 cGo

1=5=1=1 #/ ef*f

1=5=1=2 d]zg/L pks/)f ef*f

1=5=1=3 lnnfd laqmL 20,000.00

1=5=1=4 kl/Iff 10,000.00

1=5=1=5 ljljw kmf/fd 500,000.00

1=5=1=6 cGo ljljw cfo 300,000.00

1=2 /fhZj af+*kmf* k|flKt

1=3 cGo cfo

1=3=1 ;fljs :yfgLo lg=af^ k|fKt 500,000.00

1=3=2 a]?h' c;'nL

1=3=3 utjif{sf] gub df}Hbft

hDdf cfGtl/s 13,280,000.00

2 cGt/ ;/sf/L ljQLo x:tfGt/)f

2=1 g]kfn ;/sf/af^ k|fKt cg'bfg

2=1=1 ljQLo ;dfgLs/)f cg'bfg 248,464,000.00

2=1=2 ;zt{ cg'bfg 242,989,000.00

2=1=3 ;dk'/s cg'bfg

2=1=4 ljz]if cg'bfg s_ ejg lgdf{)F



v_ ;*s af]*{ g]kfn 7,000,000.00

hDdf 498,453,000.00

2=2 k|b]z ;/sf/af^

2=2=1 ljQLo ;dfgLs/)f cg'bfg

2=2=2 ;zt{ cg'bfg

2=2=3 ;dk'/s cg'bfg

2=2=4 ljz]if cg'bfg

hDdf

2=3 cGo lgsfoaf^ C)f k|fKt

2=3=1 gu/ ljsf; sf]if 

afx\osf] hDdf 498,453,000.00

3= hg;xeflutfM

3=1 hg;xeflutf gub 8,342,000.00

4= ut cf=a=sf] vr{ gePsf] /sd

4=1 ;+#Lo ;+/rgf k'+hLut 4,658,000.00

s'n hDdf 524,733,000.00


